M3paboTuna: , yumauwre

HactaBeH nucTt

AkTMBHOCT 1: Pelwun rm paBeHkute
a) (x+1)2—(x—2)2 =15 6) (3—x)2—x(x—2):x—1 B) (x+4)2—(x+2)(x+3):13 r) 3(x+2)2+(2x—1)2—7(x+3)(x—3):28

AKTUBHOCT 2: PeLun rm paBeHkuTe
2x -1 8 2x+1 5x+4 3x-13 11 1
= 6 = B) —+

N 11 7+6x  1+2x 15 7 3
2x+1 4x*-1 2x-1 5x-20 3x-12 5 3x 6x+12 2x+4

N —; = +
2x°-50 6x+30 4x-20

a)

AkTMBHOCT 3: Pelun rm paBeHkute
x-1 7 5-X 1 6 3 5 2 1 1 X 1 1 2

—_——_— — = — B —_ = =
2x2—4x 8x 4x*—-8x 8x-16 (1+x)2 (1_)()2 1—x? )x—l Ax?-3 x*+2x+1 X —x xX2+x x°-1

a)

AKTMBHOCT 4: Pelun rm paBeHkute
X+3 x-1 = 2Xx+7 x+6_2x2+3x+11_x—5 X+3 X+ 2 3 2 X 2X+3

A 6
X+2 X+1 X?+3x+2 )

£ w2, v_ Bz_ N =32 r__s__z
X-5 X°+Xx-30 Xx+6 X°—=3X+2 X" —4x+3 X°-5x+6 X—2 X -8 XxX°+2x+4
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